En PRIVACY BARRIERS

AMERICAN LOUVERS UTILITY ROOF SCREENS

PRODUCTS, INC.

INSTALLATION INSTRUCTIONS

>
s
o
il ~
il ~
LN )
> L B
e il 0
' < o
o Y
B
‘o 0
s Ko
B

13909 LYNMAR BOULEVARD | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com




PRIVACY BARRIERS

A

AMERICAN LOUVERS UTILITY ROOF SCREENS

PRODUCTS, INC.

TABLE OF CONTENTS

PARTS LIST
Posts, Attachment Clips, Louvers, and Fasteners. . . ............. Page 1-2

LOUVER UTILITY ROOF SCREEN INSTALLATION

Base SURPOIt . .o e Page 3

Affachment Angles . ... . Page 4- 6

Aftachment Clips . . ... ... Page 7

LOUVEIS . o Page 8

Intermediate Support Angle . ......... ... Page 9-10

Corner CoVer . ... Page 11
NOTE:

DRAWINGS NOT SHOWN TO SCALE
UNLESS OTHERWISE NOTED.

13909 LYNMAR BOULEVARD | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com

i | Installation Manual | Jul-14




PRIVACY BARRIERS

AMERICAN LOUVERS
PrODUCTS, INC.

!
J

&l
Ni—

URSLB0406
LOUVER FIN

X13315-MOD-VA
VERTICAL ATTACHMENT ANGLE

]
T

3

XS13340

STEEL CORNER POST

NOTE 1A:
LOUVER FINS ARE PROVIDED IN
24’ STOCK LENGTHS.

NOTE 1B:
BASE PLATE AND STEEL VERTICAL
SUPPORTS ARRIVE PRE-ASSEMBLED.

UTILITY ROOF SCREENS

PARTS LIST

URSAB225363-02
ATTACHMENT BRACKET

X13315-MOD—IA
INTERMEDIATE ANGLE SUPPORT

XS114380

STEEL INTERMEDIATE VERTICAL POST

XS11575-MOD
BASE PLATE

13909 LYNMAR BOULEVARD | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com

1| Installation Manual | Jul-14


AutoCAD SHX Text
URSL60406 LOUVER FIN

AutoCAD SHX Text
URSAB225363-02 ATTACHMENT BRACKET

AutoCAD SHX Text
X13315-MOD-VA VERTICAL ATTACHMENT ANGLE

AutoCAD SHX Text
X13315-MOD-IA  INTERMEDIATE ANGLE SUPPORT

AutoCAD SHX Text
XS13340 STEEL CORNER POST

AutoCAD SHX Text
XS11490 STEEL INTERMEDIATE VERTICAL POST

AutoCAD SHX Text
XS11575-MOD BASE PLATE


A

PRIVACY BARRIERS

AMERICAN LOUVERS
PRODUCTS, INC.

UTILITY ROOF SCREENS

PARTS LIST - FASTENERS

2

FA0O11
TEK SCREW FOR BLADE CONNECTION #12 X 1-1/4"

FAOOT1A
1/2"-13 SAE GRADE 5 THRUBOLTS WITH 1/2"p
SAE NOMINAL WASHERS & NUTS

(SEE NOTE 2A)

NOTE 2A:
Bolt assembly FAOOTTA includes

the following-
e FAOO11ACI: (1) 3/8"-16 x 2 Hex Bolt
e FAOO11AC2: (2) 3/8" Flat Washers
e FAOO11ACS3: (1) 3/8" Lock Washer
e FAOOT1AC4: (1) 3/8"-16 Hex Lock Nut

] )

FAQOT1ACT FAOO11AC2

3/8"-16 X 2 HEX BOLT 3/8" FLAT WASHERS
-
.-

FAQO11AC3 FADO11AC4

3/8” LOCK WASHER 3/8"-16 HEX LOCK NUT

13909 LYNMAR BOULEVARD | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com

2 | Installation Manual | Jul-14


AutoCAD SHX Text
FA0011AC4 3/8"-16 HEX LOCK NUT

AutoCAD SHX Text
FA0011AC3 3/8" LOCK WASHER

AutoCAD SHX Text
FA0011AC2 3/8" FLAT WASHERS

AutoCAD SHX Text
FA0011AC1 3/8"-16 X 2 HEX BOLT

AutoCAD SHX Text
FA0011A 1/2"-13 SAE GRADE 5 THRUBOLTS WITH 1/2" SAE NOMINAL WASHERS & NUTS (SEE NOTE 2A)

AutoCAD SHX Text
FA0011 TEK SCREW FOR BLADE CONNECTION #12 X 1-1/4"


A

AMERICAN LOUVERS UTILITY ROOF SCREENS

PrRODUCTS, INC.

PRIVACY BARRIERS

UNIT INSTALLATION

STEP 1

Attach support posts to existing stanchion base of host structure.
. \

Detail 1

[¢]

O

—~—— SUPPORT POST

w1

SUPPORT POST EXISTING
/ STANCHION

STRUCTURE

Detail 2

ROOF STANCHION

BY OTHERS
’\’/‘(/

PROCEDURE:

1. Place support posts on existing
stanchion and align.

2. Bolt base post with (4) 1/2"-13 SAE
Grade 5 thrubolts with 1/2"'@ SAE
nominal washers & nuts.

13909 LYNMAR BOULEVARD | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com

3 | Installation Manual | Jul-14



AutoCAD SHX Text
EXISTING STANCHION

AutoCAD SHX Text
EXISTING HOST STRUCTURE

AutoCAD SHX Text
SUPPORT POST

AutoCAD SHX Text
1/2" THRUBOLTS

AutoCAD SHX Text
SUPPORT POST

AutoCAD SHX Text
ROOF STANCHION BY OTHERS


A

AMERICAN LOUVERS UTILITY ROOF SCREENS

PRODUCTS, INC.

PRIVACY BARRIERS

UNIT INSTALLATION

STEP 2
Bolt Attachment Angles for Typical Inline
and Termination Assemblies.

Detail 3
\ BASE PLATE
D “ Detail 4 THRUBOLT ASSEMBLY
> o / SUPPORT POST
o SUPPORT POST ) )
/ (@) / 2°x2” ATTACHMENT ANGLE
@ P
o 1| 4 -
° @D @D
O
. Ie) / 2"x2" ATTACHMENT ANGLE
e
/ A
&
THRUBOLT ASSEMBLY
"
/ 0 PROCEDURE:
3 1. Align 2'x2"x1/8" angle to support post.
s 2. Once angle is in place, anchor with
M@ 3/8"-16x2" bolts in fixed holes.

13909 LYNMAR BOULEVARD | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com

4 | Installation Manual | Jul-14


AutoCAD SHX Text
SUPPORT POST

AutoCAD SHX Text
2"x2" ATTACHMENT ANGLE

AutoCAD SHX Text
THRUBOLT ASSEMBLY

AutoCAD SHX Text
BASE PLATE

AutoCAD SHX Text
SUPPORT POST

AutoCAD SHX Text
2"x2" ATTACHMENT ANGLE

AutoCAD SHX Text
THRUBOLT ASSEMBLY


A

AMERICAN LOUVERS UTILITY ROOF SCREENS

PRODUCTS, INC.

PRIVACY BARRIERS

UNIT INSTALLATION

STEP 3
Bolt Attachment Angles for Seam
Connection Assembly.

Detail 5

S BASE PLATE
G

2"x2" ATTACHMENT ANGLE
THRUBOLT ASSEMBLY

(&)
o
o

SUPPORT POST

2"x2" ATTACHMENT ANGLE

AN

g @ |

(&)

@
I
/

3
@ >
M . e Q
¢ 27°x2” ATTACHMENT ANGLES

SUPPORT POST
4 /
THRUBOLT
0 ° / ASSEMBLY

@

M o’ @@Q

! PROCEDURE:
, 1. Align 2'x2"x1/8" angle to support post.
7 e 2. Once angle is in place, anchor with

B 3/8"-16x2" bolts in fixed holes.

13909 LYNMAR BOULEVARD | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com

5 | Installation Manual | Jul-14



AutoCAD SHX Text
2"x2" ATTACHMENT ANGLES

AutoCAD SHX Text
SUPPORT POST

AutoCAD SHX Text
THRUBOLT ASSEMBLY

AutoCAD SHX Text
BASE PLATE

AutoCAD SHX Text
SUPPORT POST

AutoCAD SHX Text
2"x2" ATTACHMENT ANGLE

AutoCAD SHX Text
THRUBOLT ASSEMBLY

AutoCAD SHX Text
2"x2" ATTACHMENT ANGLE


A

AMERICAN
PRODUCTS, INC.

STEP 4

PRIVACY BARRIERS

LOUVERS

UTILITY ROOF SCREENS

UNIT INSTALLATION

Bolt Attachment Angles for Corner
Connection Assembly.

Detail 7

@

@

®

o

By

(==}

(==]

(==]

(@)

2"x2" ATTACHMENT ANGLES

SUPPORT POST

THRUBOLT
ASSEMBLY

Detail 8

SUPPORT POST —
THRUBOLT ASSEMBLY —|

BASE PLATE /

2"x2" ATTACHMENT ANGLE

PROCEDURE:

1. Align 2'x2"x1/8" angle to support post.

2. Once angle is in place, anchor with
3/8"-16x2" bolts in fixed holes.

13909 LYNMAR BOULEVARD | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com

6 | Installation Manual | Jul-14


AutoCAD SHX Text
2"x2" ATTACHMENT ANGLES

AutoCAD SHX Text
SUPPORT POST

AutoCAD SHX Text
THRUBOLT ASSEMBLY

AutoCAD SHX Text
BASE PLATE

AutoCAD SHX Text
SUPPORT POST

AutoCAD SHX Text
THRUBOLT ASSEMBLY

AutoCAD SHX Text
2"x2" ATTACHMENT ANGLE


A

AMERICAN
PrRODUCTS, INC.

STEP 5

PRIVACY BARRIERS

LOUVERS

UTILITY ROOF SCREENS

UNIT INSTALLATION

Fasten Attachment Clips to Angles with
#12 Sheet Metal Screws.

Detail 9

IS
e

c

VN__V\ VY

B

VN_ VN VY

Y

#2 TEK SCREW

SUPPORT POST
ATTACHMENT CLIP

2421 /8"
ATTACHMENT ANGLE

O

—.

| ——— SUPPORT POST

ATTACHMENT CLIP

2'x2°x1 /8"
ATTACHMENT ANGLE

aop

V & & &R0 &

LilEnE

%

PROCEDURE:

1. Align Attachment Clips
to 2'x2"x1/8" Angle at
predrilled locations.

2. Once clipisin place,
anchor with #12 sheet
metal screws in fixed
holes.

Detail 10

13909 LYNMAR BOULEVARD | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com

7 | Installation Manual | Jul-14


AutoCAD SHX Text
SUPPORT POST

AutoCAD SHX Text
ATTACHMENT CLIP

AutoCAD SHX Text
2"x2"x1/8" ATTACHMENT ANGLE

AutoCAD SHX Text
SUPPORT POST

AutoCAD SHX Text
ATTACHMENT CLIP

AutoCAD SHX Text
2"x2"x1/8" ATTACHMENT ANGLE

AutoCAD SHX Text
#12 TEK SCREW


A

PRIVACY BARRIERS

AMERICAN LOUVERS UTILITY ROOF SCREENS

PRODUCTS, INC.

UNIT INSTALLATION

STEP 6
Fasten Louvers to Attachment Clips with
#12 TEK Screws.

ﬁ =i
sl
: SUPPORT POST
Detail 11
2°x2"x1/8" ATTACHMENT ANGLE
/ ATTACHMENT CLIP
@ N ~ y
0

aop

SUPPORT POST

27x27x1/8" ATTACHMENT ANGLE

ATTACHMENT CLIP

7\
7
v
é
S\
\ \V/
Y
il
T wﬂ:\ ;i

LOUVER FIN

= I N

LOUVER FIN

acp

ARV VR VY

mE |
]+

AN AN AN AN A

8

Detail 12

13909 LYNMAR BOULEVARD | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com

8 | Installation Manual | Jul-14



AutoCAD SHX Text
SUPPORT POST

AutoCAD SHX Text
2"x2"x1/8" ATTACHMENT ANGLE

AutoCAD SHX Text
ATTACHMENT CLIP

AutoCAD SHX Text
LOUVER FIN

AutoCAD SHX Text
SUPPORT POST

AutoCAD SHX Text
2"x2"x1/8" ATTACHMENT ANGLE

AutoCAD SHX Text
ATTACHMENT CLIP

AutoCAD SHX Text
LOUVER FIN


A

PRIVACY BARRIERS

AMERICAN
PRODUCTS, INC.

LOUVERS

UTILITY ROOF SCREENS

UNIT INSTALLATION

STEP 7

Install Intermediate Support Angles with Attachment
Clips by fastening to the backside of Louver Fins with
#12 TEK Screws.

LOUVER FINS

\—VO\

13909 LYNMAR BOULEVARD | Tampa, FL 33626 | 813.925.0144 |

INTERMEDIATE SUPPORT ANGLE
ATTACHED TO BACK OF

Detail 13

NOTE 2A:

INTERMEDIATE ANGLES ONLY
REQUIRED ON BAYS 5-0" OR
LONGER.

NOTE 2B:
MAXIMUM BAY WIDTH IS 6'-0".

www.americanproducts.com

9 | Installation Manual | Jul-14


AutoCAD SHX Text
INTERMEDIATE SUPPORT ANGLE ATTACHED TO BACK OF LOUVER FINS


A

PRIVACY BARRIERS

AMERICAN LOUVERS UTILITY ROOF SCREENS

PrRODUCTS, INC.

UNIT INSTALLATION

STEP 7 (con't.)
Install Intfermediate Support Angles with Attachment
Clips by fastening to the backside of Louver Fins with

#12 TEK Screws.
. 6'-0" MAX.
Detail 14
INTERMEDIATE SUPPORT ANGLE
( ATTACHED TO BACK OF LOUVER FINS

His e
i a
dHm g
e g

WimiN Wimi N Pimil Wimi

H] " k=i H

N e N ) N N o N L e U TS N 7 I D e D S NC U7 NGRS 7o N o NP

NOTE 3A:

INTERMEDIATE ANGLES ONLY
REQUIRED ON BAYS 5-0" OR
LONGER.

NOTE 3B:
MAXIMUM BAY WIDTH IS 6-0".

13909 LYNMAR BOULEVARD | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com

10 | Installation Manual | Jul-14



AutoCAD SHX Text
INTERMEDIATE SUPPORT ANGLE ATTACHED TO BACK OF LOUVER FINS


A

PRIVACY BARRIERS

AMERICAN LOUVERS UTILITY ROOF SCREENS

PRODUCTS, INC.

UNIT INSTALLATION

STEP 8
Install Corner Cover by fastening with
#12 TEK Screws.
CORNER SUPPORT POST
Detail 15

2"x2"x1/8" ATTACHMENT
ANGLES

HMENT CLIPS

ATTAC

\ CORNER COVER PLATE

Detail 16

| —

Ny,
AN

CORNER COVER PLATE

\ CORNER COVER PLATE

13909 LYNMAR BOULEVARD | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com

11 | Installation Manual | Jul-14


AutoCAD SHX Text
CORNER SUPPORT POST

AutoCAD SHX Text
2"x2"x1/8" ATTACHMENT ANGLES

AutoCAD SHX Text
ATTACHMENT CLIPS

AutoCAD SHX Text
CORNER COVER PLATE

AutoCAD SHX Text
CORNER COVER PLATE

AutoCAD SHX Text
CORNER COVER PLATE


	Sheets and Views
	API - Installation Instructions - Utility Roof Screens - Louvers-C
	API - Installation Instructions - Utility Roof Screens - Louvers-i
	API - Installation Instructions - Utility Roof Screens - Louvers-1
	API - Installation Instructions - Utility Roof Screens - Louvers-2
	API - Installation Instructions - Utility Roof Screens - Louvers-3
	API - Installation Instructions - Utility Roof Screens - Louvers-4
	API - Installation Instructions - Utility Roof Screens - Louvers-5
	API - Installation Instructions - Utility Roof Screens - Louvers-6
	API - Installation Instructions - Utility Roof Screens - Louvers-7
	API - Installation Instructions - Utility Roof Screens - Louvers-8
	API - Installation Instructions - Utility Roof Screens - Louvers-9
	API - Installation Instructions - Utility Roof Screens - Louvers-10
	API - Installation Instructions - Utility Roof Screens - Louvers-11


